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Level 3 History, 2019
91438 Analyse the causes and consequences  

of a significant historical event

2.00 p.m. Thursday 21 November 2019 
Credits: Six

Achievement Achievement with Merit Achievement with Excellence
Analyse the causes and consequences 
of a significant historical event.

Analyse, in depth, the causes and 
consequences of a significant historical 
event.

Comprehensively analyse the causes 
and consequences of a significant 
historical event. 

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

Write ONE essay in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2–12 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.

ASSESSOR’S USE ONLY

TOTAL

High Achievement

4

No part of the candidate evidence in this exemplar material 
may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.



INSTRUCTIONS

Write an essay on ONE significant historical event that you have studied, using the essay task below. 
Your essay should be concise and well argued.

Write your chosen historical event in the box below.

Plan your essay on page 3. Begin your essay on page 4.

ESSAY TASK

Doug Cooper, an American writer of literary fiction, once wrote: “Cause and effect are 
rarely directly related.”

Analyse the causes of a historical event you have studied. Then analyse the 
consequences and the extent to which you agree or disagree with Cooper that the 
consequences are not often linked to the causes.

Historical event: 
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PLANNING

Introduction / description of event:

Causes: 

Consequences and the extent to which they are not often linked to the causes:
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QUESTION 
NUMBER

Extra space if required.
Write the question number(s) if applicable.



Achievement Exemplar 2019 
Subject L3 History Standard 91438 Overall grade A4 

Q Grade Annotation 

1 A4 

The Soweto Riots  
The candidate has chosen a well-defined event with two causes and 
consequences. The quote is tacked on at the end of the introduction but the 
candidate does indicate their agreement with Doug Cooper’s quote. 
The candidate’s answer is predominately made up of broad generalisations but 
there is some clear specific accurate evidence stated in the causes and 
consequences. There is even treatment of the causes and consequences and 
the candidate has identified short- and long-term consequences, indicating 
some analysis.  
Valid causes have been identified and discussed. The first cause does not 
establish how it led to the riots and needs greater clarity as to how the changes 
in education let to the riots.  
Two key consequences are identified: broad knowledge and well-chosen 
evidence but there is minimal analysis.  
Overall, there is enough evidence within the candidate’s response and 
engagement with the quote to support an Achievement grade.  
The candidate does attempt to develop an argument with regard to the quote at 
the end of their answer, however the level of detail and explanation in causes is 
not sufficient for this to be considered a Merit response.  
The candidate may have been able to improve their grade by giving context to 
the event and drawing clearer links as to how the causes led to the event –
causal links are implied rather than directly established. 

 




